

Vendor Ranking

Page 1 of 1

Letting: 08240213 February 13, 2024 02:30 PM **Call Order:** 005 **Contract:** Z8144-R0

District: Turnpike Counties: LAKE, SUMTER, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

TURNPIKE

Project(s): 4436114E205

Contract Desc: PRE-EVENT SIGN REPAIR - LAKE & SUMTER - ZONE 1

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid	
1	TURTLE INFRASTRUCTURE PARTNERS, LLC	Responsive	Winning bid	\$168,723.39	100.00% In	tent to AWARD
2	CONTRACT SERVICE SOLUTIONS, LLC	Responsive	Non-Winning Bid	\$411,770.16	244.05%	

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: FEBRUARY 27, 2024 AT 4:00 PM



Letting:

Florida Department of Transportation

Tabulation of Bids

08240213 February 13, 2024 **Call Order:** 005 **Contract:** Z8144-R0

District: Turnpike Counties: LAKE, SUMTER, Fed Aid No: fedprojects

Contract Time: 365 CALENDAR DAYS

TURNPIKE

Project(s): 4436114E205

Contract Descr: PRE-EVENT SIGN REPAIR - LAKE & SUMTER - ZONE 1

The purpose of this Contract is to provide Sign Repair and Replacement Operations, including permanent repairs, pursuant to a Governor's and/or Presidential Declaration of a State Emergency. This Contract will be a regional contract that includes Lake and Sumter counties within D-8 Florida's Turnpike. The Contractor shall perform Sign Repair and Replacement Operations pursuant to the terms of this Contract and at the direction of the Department.

- 1. NO PRE-BID CONFERENCE WILL BE HELD FOR THIS CONTRACT.
- 2. Award is contingent upon legislative budget approval and availability of funds.
- 3. Awarded Contractor must execute documents within 10 days.
- 4. General Liability, Auto and Workman's Compensation Insurance required.
- 5. FHWA 1273/Davis-Bacon Wage Rates
- 6. The Contractor shall provide a letter to the department at the time of bid, from a surety authorized to do business in the State of Florida verifying the Contractor is bondable in the State of Florida. For the purposes of this Contract the dollar amount is established at \$500,000.00.

Line No / Item ID Altern Item Description	ate Quantity Units	(1) TUR INFRASTRI	UCTURE	(2) CONTRAC SOLUTIO			
() indicates item is bid as Lump Su	m	PARTNER Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(SIGNS(GRND	SIGNS 30 SQ FT C	R LESS)(UN				
0005 0700 1 11 SINGLE POST SIGN, F&I GROUN MOUNT, UP TO 12 SF	5.000 D AS	816.80000	4,084.00	3,580.00000	17,900.00		
0010 0700 1 12 SINGLE POST SIGN, F&I GROUN MOUNT, 12-20 SF	3.000 D AS	2,147.45000	6,442.35	3,606.36000	10,819.08		
0015 0700 1 13 SINGLE POST SIGN, F&I GROUN MOUNT, 21-30 SF	2.000 D AS	2,569.75000	5,139.50	3,244.24000	6,488.48		
0020 0700 1 14 SINGLE POST SIGN, F&I GROUN MOUNT, 31+ SF	1.000 D AS	4,685.56000	4,685.56	2,242.12000	2,242.12		

Page 1 of 6



Tabulation of Bids

Letting: 08240213 February 13 2024 **Call Order:** 005 **Contract:** Z8144-R0

SINGLE POST SIGN, F&I BARRIER AS MOUNT INDEX 11871/700-013 UP TO 12 SF 0030 0700 1 22 1.000 3,091.40000 3,091.40 3,972.12000 3,972.12 SINGLE POST SIGN, F&I BARRIER AS MOUNT INDEX 11871/700-013, 12-20 SF 0035 0700 1 31 1.000 2,785.38000 2,785.38 4,702.12000 4,702.12 SINGLE POST SIGN, F&I BRIDGE AS MOUNT INDEX 11870/700-012, UP TO 12 SF 0040 0700 1 32 1.000 3,244.41000 3,244.41 4,922.12000 4,922.12 SINGLE POST SIGN, F&I BRIDGE AS MOUNT INDEX 11870/700-012, 12-20 SF 0045 0700 1 80 5.000 434.01000 2,170.05 600.00000 3,000.00 SINGLE POST SIGN, REPAIR AS	Letting:	08240213	February 13, 2	024 Call (Order: 005		Contract:	Z8144-R0	
Color Colo			~~,	INFRASTRU	CTURE				
0025 0700 1 21	-			PARTNERS Unit Price	S. LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SINGLE POST SIGN, F&I BARRIER MOUNT INDEX 11871/700-013 UP TO 12 SF 0030 0700 1 22 1.000 3.091.40000 3.091.40 3.972.12000 3.972.12 SINGLE POST SIGN, F&I BARRIER AS MOUNT INDEX 11871/700-013, 12-20 SF 0035 0700 1 31 1.000 2.785.38000 2.785.38 4,702.12000 4,702.12 SINGLE POST SIGN, F&I BRIDGE AS MOUNT INDEX 11870/700-012, UP TO 12 SF 0040 0700 1 32 1.000 3.244.41 4.922.12000 4.922.12 SINGLE POST SIGN, F&I BRIDGE AS MOUNT INDEX 11870/700-012, UP TO 12 SF 0040 0700 1 30 3.244.41 4.922.12000 4.922.12 SINGLE POST SIGN, F&I BRIDGE AS MOUNT INDEX 11870/700-012, 12-20 SF 0045 0700 1 80 5.000 434.01000 2.170.05 600.00000 3.000.00 SINGLE POST SIGN, REPAIR AS 0050 0700 2 11 2.000 4.319.98000 8.639.96 15,152.00000 30,304.00 MULTI- POST SIGN, F&I GROUND AS MOUNT, UP TO 12 SF 0065 0700 2 12 4.000 5.221.81000 20,887.24 29,584.00000 118,336.00 MULTI- POST SIGN, F&I GROUND AS MOUNT, 12-20 SF 0060 0700 2 13 2.000 6.043.25000 12,086.50 16,880.00000 33,760.00 MULTI- POST SIGN, F&I GROUND AS	SECTI	ION: 0001	(SIGNS(GRND	SIGNS 30 SQ FT OF	R LESS)(UN				
SINGLE POST SIGN, F&I BARRIER MOUNT INDEX 11871/700-013, 12-20 SF 0035 0700 1 31 1.000 2,785.38000 2,785.38 4,702.12000 4,702.12 SINGLE POST SIGN, F&I BRIDGE AS MOUNTI INDEX 11870/700-012, UP TO 12 SF 0040 0700 1 32 1.000 3,244.41000 3,244.41 4,922.12000 4,922.12 SINGLE POST SIGN, F&I BRIDGE AS MOUNT INDEX 11870/700-012, 12-20 SF 0045 0700 1 80 5.000 434.01000 2,170.05 600.00000 3,000.00 SINGLE POST SIGN, REPAIR AS 0050 0700 2 11 2.000 4,319.98000 8,639.96 15,152.00000 30,304.00 MULTI- POST SIGN, F&I GROUND AS MOUNT, UP TO 12 SF 0055 0700 2 12 4.000 5,221.81000 20,887.24 29,584.00000 118,336.00 MULTI- POST SIGN, F&I GROUND AS MOUNT, 12-20 SF 0060 0700 2 13 2.000 6,043.25000 12,086.50 16,880.00000 33,760.00 MULTI- POST SIGN, F&I GROUND AS	SINGLE POST S	SIGN, F&I BARRIEI	R AS	2,632.37000	2,632.37	3,652.12000	3,652.12		
SINGLE POST SIGN, F&I BRIDGE AS MOUNT INDEX 11870/700-012, UP TO 12 SF 0040 0700 1 32 1.000 3,244.41000 3,244.41 4,922.12000 4,922.12 SINGLE POST SIGN, F&I BRIDGE AS MOUNT INDEX 11870/700-012, 12-20 SF 0045 0700 1 80 5.000 434.01000 2,170.05 600.00000 3,000.00 SINGLE POST SIGN, REPAIR AS 0050 0700 2 11 2.000 4,319.98000 8,639.96 15,152.00000 30,304.00 MULTI- POST SIGN, F&I GROUND AS MOUNT, UP TO 12 SF 0055 0700 2 12 4.000 5,221.81000 20,887.24 29,584.00000 118,336.00 MULTI- POST SIGN, F&I GROUND AS MOUNT, 12-20 SF 0060 0700 2 13 2.000 6,043.25000 12,086.50 16,880.00000 33,760.00 MULTI- POST SIGN, F&I GROUND AS	SINGLE POST S	SIGN, F&I BARRIEI	R AS	3,091.40000	3,091.40	3,972.12000	3,972.12		
SINGLE POST SIGN, F&I BRIDGE MOUNT INDEX 11870/700-012, 12-20 SF 0045 0700 1 80 5.000 434.01000 2,170.05 600.00000 3,000.00 SINGLE POST SIGN, REPAIR AS 0050 0700 2 11 2.000 4,319.98000 8,639.96 15,152.00000 30,304.00 MULTI- POST SIGN, F&I GROUND AS MOUNT, UP TO 12 SF 0055 0700 2 12 4.000 5,221.81000 20,887.24 29,584.00000 118,336.00 MULTI- POST SIGN, F&I GROUND AS MOUNT, 12-20 SF 0060 0700 2 13 2.000 6,043.25000 12,086.50 16,880.00000 33,760.00 MULTI- POST SIGN, F&I GROUND AS	SINGLE POST S	SIGN, F&I BRIDGE	AS	2,785.38000	2,785.38	4,702.12000	4,702.12		
SINGLE POST SIGN, REPAIR AS 0050 0700 2 11 2.000 4,319.98000 8,639.96 15,152.00000 30,304.00 MULTI- POST SIGN, F&I GROUND AS MOUNT, UP TO 12 SF 0055 0700 2 12 4.000 5,221.81000 20,887.24 29,584.00000 118,336.00 MULTI- POST SIGN, F&I GROUND AS MOUNT, 12-20 SF 0060 0700 2 13 2.000 6,043.25000 12,086.50 16,880.00000 33,760.00 MULTI- POST SIGN, F&I GROUND AS	SINGLE POST S	SIGN, F&I BRIDGE	AS	3,244.41000	3,244.41	4,922.12000	4,922.12		
MULTI- POST SIGN, F&I GROUND AS MOUNT, UP TO 12 SF 0055 0700 2 12 4.000 5,221.81000 20,887.24 29,584.00000 118,336.00 MULTI- POST SIGN, F&I GROUND AS MOUNT, 12-20 SF 0060 0700 2 13 2.000 6,043.25000 12,086.50 16,880.00000 33,760.00 MULTI- POST SIGN, F&I GROUND AS				434.01000	2,170.05	600.00000	3,000.00		
MULTI- POST SIGN, F&I GROUND AS MOUNT, 12-20 SF 0060 0700 2 13 2.000 6,043.25000 12,086.50 16,880.00000 33,760.00 MULTI- POST SIGN, F&I GROUND AS	MULTI- POST SI	IGN, F&I GROUND		4,319.98000	8,639.96	15,152.00000	30,304.00		
MULTI- POST SIGN, F&I GROUND AS	MULTI- POST SI	IGN, F&I GROUND		5,221.81000	20,887.24	29,584.00000	118,336.00		
	MULTI- POST SI	IGN, F&I GROUND		6,043.25000	12,086.50	16,880.00000	33,760.00		

Page 2 of 6



Tabulation of Bids

Page 3 of 6

Letting: 08240213 February 13, 2024 Call Order: 005 Contract: Z8144-R0

Letting:	O	8240213	February 13, 20	024 Call	Order: 005		Contract:	Z8144-R0	
	o / Item ID escription	Alternate	Quantity Units	(1) TUR INFRASTRI	UCTURE	(2) CONTRAC SOLUTIO			
() indica	ates item is bi	d as Lump Sum		PARTNER Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
5	SECTION:	0001	(SIGNS(GRND	SIGNS 30 SQ FT O	R LESS)(UN				
		F&I GROUND	1.000 AS	8,408.56000	8,408.56	10,600.00000	10,600.00		
		F&I GROUND	1.000 AS	12,389.72000	12,389.72	15,600.00000	15,600.00		
		GROUND MOU	1.000 NT, AS	7,207.20000	7,207.20	2,800.00000	2,800.00		
SIGN PANI	700 3101 EL, FURNIS MOUNT, UF	SH & INSTALL P TO 12 SF	5.000 EA	619.42000	3,097.10	3,720.00000	18,600.00		
SIGN PANI	700 3102 EL, FURNIS MOUNT, 12	SH & INSTALL 2-20 SF	5.000 EA	1,234.95000	6,174.75	5,800.00000	29,000.00		
SIGN PANI	700 3103 EL, FURNIS MOUNT, 21	SH & INSTALL -30 SF	2.000 EA	1,602.17000	3,204.34	3,720.00000	7,440.00		
SIGN PANI	700 3104 EL, FURNIS MOUNT, 31	SH & INSTALL -50 SF	2.000 EA	2,336.62000	4,673.24	8,000.00000	16,000.00		
SIGN PANI	700 3105 EL, FURNIS MOUNT, 51	SH & INSTALL -100 SF	1.000 EA	4,172.74000	4,172.74	8,400.00000	8,400.00		
SIGN PANI		SH & INSTALL UP TO 12 SF	1.000 EA	2,218.98000	2,218.98	4,272.00000	4,272.00		



Tabulation of Bids

Letting: 08240213 February 13 2024 **Call Order:** 005 **Contract:** Z8144-R0

Letting:	08240213	February 13, 2	024 Call	Order: 005		Contract:	Z8144-R0	
Line No / Iten Item Descript		te Quantity Units	(1) TUR INFRASTRU	JCTURE	(2) CONTRAC SOLUTIO			
-	n is bid as Lump Sum		PARTNER Unit Price	S. LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	ON: 0001	(SIGNS(GRND	SIGNS 30 SQ FT O	R LESS)(UN				
0110 0700 32 SIGN PANEL, FL OVERHEAD MOD	IRNISH & INSTALL	1.000 _ EA	2,444.96000	2,444.96	4,720.00000	4,720.00		
0115 0700 32 SIGN PANEL, FL OVERHEAD MOD	IRNISH & INSTALL	1.000 _ EA	5,891.16000	5,891.16	5,280.00000	5,280.00		
0120 0700 32 SIGN PANEL, FL OVERHEAD MOD	IRNISH & INSTALL	1.000 _ EA	7,187.84000	7,187.84	6,400.00000	6,400.00		
0125 0700 32 SIGN PANEL, FL OVERHEAD MOD	IRNISH & INSTALL	1.000 _ EA	9,742.92000	9,742.92	10,000.00000	10,000.00		
•	IRNISH & INSTALL RIDGE MOUNT IN		1,368.50000	1,368.50	9,720.00000	9,720.00		
	IRNISH & INSTALL RIDGE MOUNT IN		2,545.50000	2,545.50	10,640.00000	10,640.00		
0140 0700 34 SIGN PANEL, IN:	401 STALL, UP TO 12	5.000 SF EA	291.01000	1,455.05	400.00000	2,000.00		
0145 0700 34 SIGN PANEL, IN:		5.000 EA	291.01000	1,455.05	400.00000	2,000.00		

Page 4 of 6



Tabulation of Bids

Page 5 of 6

Letting:	08240213	February 13, 20)24 Call	Order: 005		Contract:	Z8144-R0	
Line No / Ite		e Quantity Units	(1) TUR INFRASTRU	ICTURE	(2) CONTRAC SOLUTIO			
() indicates it	em is bid as Lump Sum		PARTNERS Unit Price	S, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	TION: 0001	(SIGNS(GRND	SIGNS 30 SQ FT O	R LESS)(UN				
0150 0700 SIGN PANEL, II	3403 NSTALL, 21-30 SF	1.000 EA	720.01000	720.01	500.00000	500.00		
0155 0700 SIGN PANEL, II	3404 NSTALL, 31-50 SF	1.000 EA	1,149.01000	1,149.01	700.00000	700.00		
0160 0700 SIGN PANEL, II	3405 NSTALL, 51-100 SF	1.000 EA	3,309.63000	3,309.63	1,000.00000	1,000.00		
0165 E700 A	46 32 ING SIGN (MULTI PO	3.000 OST) AS	1,339.47000	4,018.41	2,000.00000	6,000.00		
	S(GRND SIGNS 30 S FT OR LESS)(UN)	Section Totals:		\$168,723.39		\$411,770.16		

Contract Grand Totals: \$168,723.39 \$411,770.16



Tabulation of Bids

Page 6 of 6

Letting: 08240213 February 13, 2024 **Call Order:** 005 **Contract:** Z8144-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.